@ J ‘) @ Forenkling av polynom

StudentName: ExamDate: ExamScore:
2(8x+x3)—7x3 — Ox + 6x7 3(7)6—363)+2x3 + 2% + 4x®
4%+ 287 +Ax— P+ O x3—4x—3(5x+x3)+4x2
9x — x> + 5% — 3(6x + 3x°) 43x° — 2x%) + 8x + 9x + 2x°
2% — 3x+ 5 + 4(4x3 - xz) Sx—4x + 2(8)(?2 - x2) -2
7x2+x3—9x+3(x3—5x3) 2x+ dx — Tx— 3x° + 2x
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. Pk,

Forenkling av polynom

StudentName:

2(8x + x3) —7x° = 9x + 6x°
5 + 6% + Tx

4% + 20 + dx— xXF +
3x° + 37 +4x

Ox — X2 +5x° — 3(6x + 3x3)
—4x° — ¥ —Ox

2% = 3x+ 5% + 4(4x3 —xz)
16x° + 3% — 3x

T+ = 9x+ 3(x3 — 5x3)
—11x° + 7 — 9x

ExamDate: ExamScore:

3(Tx— x0) + 20 + 2 +4x3
57+ 21x

X — dx— 3(5x + x3) + 42
—2x + 4 — 19x

4333 — 26%) + 8x + 9x% + 2x°
14x° + % + 8x

5x— dx+2(8x — x2) - 2x°
2+ 14x° +x

2+ dx — Tx — 30 + 2x

3 +x
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